Imported Items

December 2019

No ·	Tender No.	Supplier	Date of Award	Item Description	Unit	Qty	Curr	Unit FOB Price	Total FOB Price	Freight	Clearing Handing & Delivery Charges in LKR	Local Agent Commission in LKR
1	DD2/P&D/IC B/2019/033/ D	Shaanxi YG Cable Co. Ltd,	17/12/2019	Cable Alu. PVC Insulated –H.S. Duplex (7/1.35) 10sqmm (Phase Core PVC Insulated, Neutral Core Bare, and both PVC sheathed together)	km	700	USD	265.417	185,791.90	10,750.00	1,500,000.00	1,016,441.17
	DD2/P&D/IC B/2019/037/ D	Malico Energy Pte Ltd Singapore	03/12/2019	Battery Banks For Primary Substations	Nos	7	USD	10,488.00	73,416.00	3,007.48 450,000.00 450.00		
2				Battery Tester including all accessories and Demonstration at site		1	EUR O	10,297.00	10,297.00		463,619.71	
3	DD2/P&D/IC B/2019/040/ D	Aditya Birla Insulators, India.	09/12/2019	Insulator Suspension Set 37/2.79 (LYNX) 33 kV for Tower Line applications (with Armor Rod and Without Arcing Horns)	Nos	3,000	USD	34.856857	104,570.57	3,015.00	390,000.00	48,111.72

4	DD2/P&D/IC B/2019/003/D	Polycab India Limited, India	17/12/2019	Cable UG. Cu. XLPE INSULATED 11kV HT 1C 240 sqmm (without Mettalic Sheath) (Shall be supplied in 250m Drums) Cable UG. Cu. XLPE		1	USD	22,792.47	22,792.47	750.00	420,000.00	43,176.00
				INSULATED 11kV HT 1C185 sqmm (without Mettalic Sheath) (Shall be supplied in 250m Drums)	kV n km c km c km the kkV n	0.5		19,244.38	9,622.19			
				Cable UG. Cu. XLPE INSULATED 33kV HT 1C 185 sqmm (with Mettalic Sheath) (Shall be supplied in 250m Drums)		0.5		32,872.43	16,436.21			
5	DD2/P&D/IC B/2018/151/ D	MTE Meter Test Equipment AG, Switzerland.	27/12/2019	Portable Three Phase Meter Testing Equipment Accuracy Class 0.2 with clamp on CTs(UCT 120.3) Including FLEX3000 UCT LEM.3 flexible current probes with range selector box and other accessories per unit as per the CEB specification including 2 spare sets of current	Unit	13	EUR O	5,013.30	65,172.90	500.00	150,000.00	395,903.66

				clamps I-clamps- 120A								
6	DD2/P&D/IC B/2018/151/ D	ZERA GmbH Germany.	27/12/2019	Portable Three Phase Meter Testing Equipment Accuracy Class 0.05 Including CT 3 clamps 120A and 3 Flexible CT clamps and accessories per unit as per CEB specification	Unit	03	EUR O	6,850.00	20,550.00	360.00	100,000.00	20,805.73
7	DD2/P&D/IC B/2018/108/ D	ZERA GmbH Germany.	30/12/2019	3 Phase Meter Test System (20 Positions) Including design, manufacture, testing, supply, installation and commissioning of offered test system as per the CEB specification 108- 1:2019	Unit	01	EUR O	153,000.0	153,000.00	3400.00	160,000.00	152,827.03

Local Items

December 2019

No	Tender No.	Supplier	Date of Award	Item Description	Unit	Quantity	Unit Ex Works/Show Room Price in LKR.	Total Ex Works/Show Room Price in LKR.	Delivery Charges in LKR.
01	DD2/P&D/ICB/ 2018/149/D	Sierra Cables PLC	17/12/2019	Cable UG Alu. PVC Insulated –H.S. Duplex (7/1.35) 10sqmm (Phase Core PVC Insulated, Neutral Core Bare, and both PVC sheathed together)	km	680	75,270.74	51,184,103.20	529,428.57
02	DD2/P&D/ICB/ 2019/006/D	Ruhunu Cables (PVT)Ltd	23/12/2019	Cable Alu. PVC Insulated – H.S. Duplex (7/1.35) 10sqmm (Phase Core PVC Insulated, Neutral Core Bare, and both PVS sheathed together)	km	680	74,091.81	50,382,430.80	505,142.86